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Select the correctly spelt word:

€) tuiti“

(b) tution
(c) tuetion ®
(d) Tuttion

Ans:- a
@




Select the most appropriate option to substitute the underlined
segment in the given sentence. If no substitution is required, select

No improvement.
Your cominﬁio e to dinneron time. o'm'ma rule

rather the excep#on. . oo
(a) shall be a rule rather than a exce&ion &
(b) No improvement
(c) should be a rule rather being the exception
(d) should be the rule rather than thé'exception

ANS :- 4



Select the correctly spelt word.

€) previlec‘

(b) peivailege
) privilege @*
(d) previllage

Ans :- C
2 >

Ko :
~ 3




Select the most appropriate option to fill in the blank.
She got a lucrative job of a translator because she was

in Fr‘_ch.
®

(a) sufficient
(b) Efficient
(c) deficient
(d) proficient

ANS :- D



Select the most appropriate meaning of the underlined
idiom in the given sentence. "

True friend‘tay by our side ‘through 1431

(a) under all circumstances
(b) in happy moments

(c) in difficult times

(d) in different weathers

ANS :- A



Select the word which means the same as the group of words
given. el

One who ii great lover o‘f books

(a) bibliephile ® E ) e
(b) xenophile L

(c) Hemophile | :
(d) pedophile @

ANS :- A



Select the word which means the same Me group of
words given.

A fICtItIOUﬁIame used by an author
e O
(a) Pseudonym

(b) homonym

(c) ah&l

(d) Anonymous

ANS :- A




Given below are four jumbled sentences.
Select the option that gives their correct

order. a) CBDA
(b) BADC
W
A. The brain is active too during sleep, (c) ABDC
sending messages for the heart to beat (d) CABD
regularly.

®.

B. However, the body utilizes the sleeping p |
Ans <A

time effectively.

C. We spend about one third of our time
sleeping.

D. It produces energy and releases hormones
for repair and growth during the night.



Select the most appropriate option to substitute the underlined
segment in the given sentence. If no substitution is required,
select No improvement.

ular things'that mo,'vat@e”n
bowe. tﬁr m

Knowing the?ar
person help you

Y

(a) No improvement

(b) help you to add power

(c) helps you add power

(d) help you adding power L)

Ans :- C #



Select the most appropriate option to fill in the blank.
The committee reached decision regarding

the appointment of the chairman. eﬁ

(a) a compatible ‘-;,4;0
(b) a unanimous
(c) an exemplary
(d) an agreeable

Ans :- b ® -



In the sentence identify the segment which contains the
grammatical error. L

There isn’t ngany rice left irLthe housew must

replenish our stgsk soon.
h our stggk

(a) our stock soon

(b) so we must replenish

(c) There isn’t many rice

(d) left in the house

Ans :- C "



Select the most appropriate antonym of the given word.

MEAGRE
L

(a)Plentiful @
(b) Inadequate.

(c) scanty

(d) Premium

Ans :- 3 e



Select the correct active form of the given sentence.

We will all be greatly benefitted by this scheme.
(a) This scheme
(b) This seheme wolld great
(c) This scheme will greatly benefit us all.
(d) This scheme is going to greatly benefi

_ggatly penefi us a
erit wee

Ans :- C ‘



In the sentence identify the segment which contains the

grammatical error. L

Ten kllomea'es are a Iong distance to c%r on foot
for a child.

- ®
(a) Ten kilometres are

(b) to cover on foot

(c) a long distance
(d) for a child

Ans :- a L



Select the most appropriate synonwa the given

word.

PERPLEX ‘
e ©

(a) surprise .

(b) bewilder

(c) Complex

(d) deceive

liag
Ans :- b =

A I‘:_;’ ?\) :
, "




In the following passage some words have been Select the most
deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate
option for each blank.

appropriate option

to fill in blank No. 1.
Leaving his car with the valet, he (1) (a) Access
the hotel and joined the large (b) entered
crowd milling (2) He found a badge )~tt9d \
waiting for him (3) the ) invaded:
receptionist’s table and took his (4)

in the rear of the hall. When the Ans :- b

place was (5) the moderator
welcomed the crowd.




Select the most

Leaving his car with the valet, he appropriate option to fill
(1) the hotel and joined i"&'j_“k No.2.
the large crowd milling (2)
He found a badge waiting for him i (fgf:;;: #
€)) the receptionist’s table & ® (c in~
and took his (4) intherear | ‘out i
of the hall. When the place was (5) |
the moderator welcomed Ans :- a

the crowd.



Leaving his car with the valet, he = ““"Select the most

(1) the hotel and joined appropriate option to fill in
the large crowd milling (2) blw.&
He found a badge waiting for him & &

b
A

€) the receptionist’s
table and took his (4) in
the rear of the hall. When the
place was (5) the
moderator welcomed the crowd.




Wlect the most

appropriate option to fill in




Leaving his car with the valet, he (1) sl T e
the hotel and joined the appropriate option to
large crowd milling (2) He fill imblank No.5
found a badge waiting for him (3) < | ”

(@) filled

the receptionist’s table and
took his (4) in the rear of the p 9 ‘
ffe! 2"

mpty

hall. When the place was (5)
the moderator welcomed the crowd. @) em

»

Ans :- a



Given below are four jumbled sentences. Select the option
that gives their correct order.

(a)CBAD
A. But they faced grave danger if they tried to (b) DBAC
criticize these decisions. ’ (c) BADC

B. The nationalists now began to openly (d) DACB

criticize the policies of the British.

C. The freedom movement changed this
situation.

D. Under colonial rule, the people had lived in
fear of the British government and did not
agree with many of the decisions that they
1{e]0] ¢

ws - dq

)



Select the most appropriate synonym of the given
word.

DEFER @&

(a)d reag
(b) despair
(c) Dictate
(d) delay

Ans :- d



Select the correct passive form of the given sentence.

The sailors had never encountered such a rough sea.
» e

(a) Such a roug .a‘,was neverencountered by the sa*ors.

(b) Sucha rough sea had r been untered by the

sailors. ‘ ~ )
’cou*ed by the, *
sailors.

(c) Such a rough sea has never been
(d) Such a rough sea is never encountered by the sailors.

Ans:- b



Select the most appropriate meaning of the underlined
idiom in the given sentence. "
Due to increased number of Iaé/-oﬁ.‘s in the JDKWV, the
sword of Damocl‘ls always hamng 1 %e employees.
(a) strict rules and regulations
(b) an ill omen of death

(c) a constant threat

(d) threat of physical harm )

Ans :- C






